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Show all of your work.

 

For all of the questions on this exam, suppose that the Capital Asset Pricing Model (CAPM) assumptions hold. 

 

 

 

1. (7pts) List the CAPM assumptions.

 

 

Use the following information to answer Questions 2-5. 

 

The rsk-free rate is 4%. The market portfolio, M, has a standard deviation of 0.2 and an expected return of 12%. 

	Security 
	Standard Deviation of the Security
	Covariance of the Security with the Market Portfolio

	A
	0.25
	0.01

	B
	0.30
	0.02

	C
	0.30
	-0.01


 

2. (18pts) Explain as thoroughly as possible the steps you would take to calculate the minimum variance portfolio composed of Securities A and B. Is any of the information you need to make this calculation missing from the data above? If so, what information is missing?

 

 

3. (a) (15pts) Graph the Capital Market Line. On your graph, carefully indicate Securities A, B, C, and the market portfolio M. Be sure to label your axes.

 

(5pts) On the same graph, indicate the feasible set of risk and return for the set of all risky assets. 

 

(c) (5pts) Again on the same graph, indicate (using the red pen provided) the efficient set of risk and return for the set of all assets, risky and riskless. 

 

 

4. (25pts) Graph the Security Market Line. On your graph, carefully indicate Securities A, B and C. Be sure to label your axes.

 

 

5. (25pts) Consider a risky project. The project has expected costs of $100 now and expected benefits of $120 two years from now. The project has a standard deviation of 0.25 and covariance with the market portfolio of 0.02. What is the net present value of the project? Should the project be undertaken?

